log (L*) LABJIND2-Helligkeit
log(L*) L*

L* L aBanD2= (V@) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 /a=258.6 b=&=6.14
*,=508 Y,=18
log(L* ;)=2.7, m;=0.43

Anwendungs—
bereich

Y,=18

log AY LABIND2-Normfarbwertdifferenz
log(AY) AY
L*= (t/a) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 t/a=258.6 b=&,=6.14
Normfarbwertdifferenz
log(dY)=log[(s+qY)/c]
=log [(1+b-(Y/Yy))/t]
$=0.017 q=0.0058 c=1.5

Anwendungs—
bereich

log AY/Y)
og(C;) | C=(AY/Y)

LABJIND2-Normfarb—
wertempfindlichkeit

L*LaBanD2= (a) In[ 1+ b (Y/Y)]

a=0.3411 t=88.23 t/a=258.6 b=&=6.14

Hellbezugswertempfindlichkeit
log(dY/Y)=log [ (1 + b (Y/Yy) / (t-Y)]

Anwendungs—

bereich
1

~
1 Iog(leY) —2.34 m;=-0. Ia* a0

log (Y/AY)
log(S,) S=(Y/AY)
L*LaBanD2= (Ya) In[ 1+ b (Y/Y)]
a=0.3411 t=88.23 /a=258.6 b=&=6.14
Hellbezugswertkontrast
log(Y/dY)=log [ (1+b (Y/Yy) ) / (t-Y) ]
Y,=18, dY,=0.08 Y,/dY =222
log(Y/dY)=2.34 m,=0.13
-

LABJIND2-Normfarb—
wertkontrast

log (L*/L* ;) Relative LABJND2-Helligkeit
LA
L*LaBanD2= (Ya) IN[ 1 + b (Y/Yy)]
L*L* = () {In (1 + b (Y/Y) =In(1+b)}
a=0.3411 t=88.23 /a=258.6 b=a=6.14

L* ;=508 Y,=18, dY,=0.08 dY,/Y,=0.004
log[(L*) /(L* \)]=0, m,=0.43

Anwendungs—
bereich

Y,=18

log(AY/AY,)
AYIAY,

Relative LABIJND2-Normfarb—
wertdifferenz

L*LaganD2= (Ya) In[ 1 + b (Y/Yy)]
a=0.3411 t=88.23 1/a=258.6 b=&=6.14

relative Normfarbwertdifferenz

log(dY/dY,) = log [(1+b*(Y/Yy)) / t] - log [(1+b) / 1]

Y,=18, dY,=0.08 dY,/Y,=0.004 ’o'
log[(dY)(dY,)]=0, m,=0.86

Anwendungs—
bereich

log [(AY/Y) I AY /Y] Relative LABIND2-Normfark
C,/Cry=(AYIY)I(AY1Y,) wertempfindlichkeit

L*Laginp2= (Ya) In[ 1 + b (V/Yy)]
a=0.3411 t=88.23 1/a=258.6 b=&=6.14

relative Hellbezugswertempfindlichkeit
10g[(dY//(AYy/Y,)] = log [(1+b:(Y/Yy) )/ (t-Y) ]

Anwendungs—
bereich

Iag[(dY/Y)((dYu/Yu)] 0, m,=-0.13
Y,=18, dY,=0.08 dY,/Y,=0.004
Yy=4

log [(Y/AY) I (Y/AY,)]
og(S) S/Siu=(Y/AY)/(Y/AY,) wertkontrast

Relativer LABJND2—-Normfar

L*= (ta) In [ 1 + b (Y/Y,)]
a=0.3411 t=88.23 1/a=258.6 b=&=6.14
Hellbezugswertkontrast
log[(Y/dY)/(Yy/dYy)]= log [(tY) / (L+b-(Y/Yy) )]
—log [(tYy)/ (1+b)]
Y,=18, dY,=0.08 Y,/dY =222
log[(Y/dYY(Y,/dY,)]=0, m,=0. 13
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